IPART—

i
SUIAFIRED
NS

RMER YWTh2
o | B A B

=
240 DIt

| TEL:TRALLEIM
FAX | 0TRE11E108




A 7
Z,
g
2
]‘\
il
- WA
o
7
&
it
bE |
=
8
_
i
i
B
B
=\
=
e
J- =
g -
i AS T S 1 ] EWTE (B mm)

: NEZPLTISVT T RFOLRIIVS | AFILRISVT | = 7 I
E et oitisglleT ;ﬁ-wf__v-ﬁ ot XFILAYE IR Vagt| wemem | U2t wam| 7227 18
o [mor [emmmey | B TuRor [smmEen % TUxon [(sEmmen | A T e | M, WS

3 No. | 3 | mW No. | _ No. | sik | mm
| [as-32 61 |STS-32 55 |STST-32 55| 1 ~ 32
As-33 | 430 | 300 | 76 1,350 1,100 | 1,350 1.100 16~ 48| 24 | 25 | 48 |1000
ik |as-34 9 |sTs-34 | 87 |sTsT-34 87 | 32~ 64
7K AS-41 51 |STS-41 51 |STST-41 51 1 ~ 16
i) AS-42 6.8 |[ESTS-42 6.8 |[ESTST-42 6.8 1 ~ 3.2
2 |asas 8.3 |STS-43 8.3 |STST-43 83| 16~ 48
AS-44 99 [STS-44 9.9 [STST-44 9.9 3.2~ 6.4
"j;:; Aeas | 1270|850 | 1O (oo e |2620(2.220| 118 I3T8TRS 15 620|2.000( 112 e og| 32|33 | 64 [1000
& |as.as 16.8 |STS-48 16.8 |STST-48 168 | 95~12.8
& |asat0 19.4 STST-410 19.4 | 128~15.8
T |as-412 233 15.8~19
0 |as-a1a | 19~22.2 ;
U |as-51 46 1 = 18
3 AS-52 | 7.4 |STS-52 | 7.4 |STST-52 7.4 1.2~ 3.2
ol AS-53 9 STS-53 9 STST-53 9 1.6~ 48
= |as-54 10.5 |STS-54 ' 10.5 |STST-54 105 | 3.2~ 64
AS-55 12 STS-55 12 STST-55 i2 48~ 8 |
as.se | 1960(1200| o |1 ool 4180 (3280 (2 [SIorel |4ate0a2s0| 12 25T O | 4 | 41 | 8 1000
AS-58 17.4 |STS-58 17.4 |STST-58 17.4 9.5~12.8
AS-510 19.8 | STST-510 206 | 12.8~15.8
AS-512 233 15.8~19
AS-514 27.2 19 ~222
<2 AS-62 8 |sTs-62 8 |sTsT-62 8 16~ 32
~ |as-e3 96 |sTS-63 9.6 |STST-63 96 | 16~ 48
= AS-64 11.2 |STS-64 11.2 [STST-64 11.2 3.2~ 6.4
= |ases | 12.8 |sTs-65 12.8 |STST-65 128 | 48~ 8
4 |as-ee 14.4 |STS-66 14.4 |STST-66 144 | 64~ 95
AS-68 17.5 |sTS-68 175 |STST-68 175 | 9.5~128
T |as-610 |2900|2,000| 214 |sTS-610 (5800|4300 19.9 |STST-610|5800|4,300| 19.9 | 12.8~158 | 48 | 49 | 96 |1.000
- 4 AS-612 246 |STS-612 246 |STST-612 246 | 15.8~19
% |as-614 279 |STS-614 26.4 |STST-614 26.4 | 19 ~22.3
I AS-616 31.2 |STS-616 299 |STST-616 299 | 22.3~25.4
AS-618 33 254~286
AS-620 |35 28.6~31.8
18 [as-622 40 31.8~34.9
% AS-82 9.2 STST-82 16~ 3.2
AS-B4 12.6 |STS-84 126 |STST-84 12.6 3.2~ 64
AS-86 15.8 |STS-B6 15.8 |STST-86 15.8 6.4~ 95
AS-88 19 STS-88 19 STST-88 19 9.5~12.8
Jg asafo |4800(3320) oo |0y [9200(7.200 o |Crerai0|9:200|7200] S0 | 257122 | 64 | 65 | 128 | 100
“ |as-812 253 |sTS-812 253 |sTST-812 253 | 15.8~19
ith AS-814 28.9 |STS-814 28.9 |STST-814 289 |19 ~223
AS-816 30.8 22.3~25.4

295 V-7 MHICERERELTEYET,



[ > -
754V KF b o
A
>
1
‘ NB
.{
=
| 5!
| Ap
‘ i
i fc
H
- i
&
o am | ROOTE [ WAEER oo T L | D | H | P | g i
(M) (mmit | "7 (mm) | (mm) | (mm) | (mm) I
KS-315 | AF—L 1000 :
KA-315 ZIE | M3%05 | 05~15 | 5.1 85| 5 6 | 05 | 1000 g
KSS-315 AT 200 |
KS-415 AF—I 1 1000 NE
KA-415 7LE | M4x07 | 05~156 | 6.1 10 6 7 | 05 | 1000 %
KSS-415 AT | 200 b
KS-515 AF—l [ 1000 %
KA-515 PNE | M5X08 | 0.5~1.5 71 "n |7 8 | 05 [ 1000 i
- L KSS-515 | A7 | - - 200 e
P KS-625 AF—N | 1000 w
KA-625 | 7ILE | MBx1 | 1~25 91 |14 | 9 | 10 | 05 | 1000 Z
KSS-625 | A5 ] | 100 2
;Ig KS-825 | AF N 1000 <
- KA-825 | 73 | M8x125| 1~25 | 111 |[165| 11 | 12 | 05 | 1000
== KSS-825 ATy ) 100 G
KS-1025 | ZF—L I’ 500 %
KA-1025 7S | MI0X15| 1~25 | 131 |16 | 13 | 14 | 05 [ 500 &
KSS-1025 | A7 e I [ 10| I
et
7
:
Y4X T %4x -
il 7 TF T H B o Ewaaw| M| s
FLSM3X6S M3x 6 1000 EFLSM6X10S | M6x 10 | 1000 2
FLSM3x8S 8 1000 FLSM6X12S 12 | 1000 L
FLSM3x10S 10 1000 FLSMGX 158 15 | 500 ¥
FLSM3x12S | 12 1000 __ FLSM6x20S 20 | 500
FLSM3x15S | 15 1000 FLSM6X25S 25 500
FLSM3x20S | 20 1000 FLSM6x30S a0 || 500
FLSM3x25S 25 1000
FLSM3%30S 30 1000
¥1X FAX K
AR STExas| DR AR [Teas| M %
ARL—b (W%BL) 17 FLSM4x6S Max 6 1000 FLSM8x10S | M8x 10 500 &
FLSM4x8S N 1000 [E/FLSM8x 158 15 500 -
FLSM4x10S 10 1000 | FLSM8X20S 20 250 ™
FLSM4x12S 12 | 1000 FLSM8x25S 25 250 *L
FLSM4X15S 15 1000 FLSM8X30S 30 250 +
FLSM4X20S 20 1000 A
FLSM4x25S 25 1000 f
FLSM4x30S 30 500
#4X . H4X M
AR awas] M8 A [Eomxne WMR | m
FLSM5x8S M5x 8 | 1000 FLSM10%20S | M10x 20 250
FLSM5x10S 10 | 1000 FLSM10x258 | 25 | 200
FLSM5X12S 12 | 1000 FLSM10x30S | 30 150
FLSM5x 158 15 | 1000 #N
FLSM5x20S 20 | 1000 #’
FLSM5x25S 25 | 500 #th
FLSM5X30S 30 500

226



A I7—')Nva—

|#%| AR2000MV |
5 | L B

“  [a=] AR2000M |

de YAy MEERRE (¢) BETRRE =i #m YAy MEGRTEE (o) BEERE i M
mm MPa(kgf/cii) ke Ya— mm MPa(kgf/cil ) ke Ya—

T 24 | 32| 4 | 48 | 049~059 (5~6) | 1.2 |BBE + 24 | 32 | 4 | 48 | 049~059 (5~6) | 1.35 |BEE &

> N RYRy &—

54 |#%] HRO02A |

/ U~y MEERTEE (¢) mm
7 24 3.2 4 4.8 6.4

A,

(%] HNO10 | IL |[#%] HNDOO5 | 5
)
RS g
4
R i
2
|
|I| ]
v 1
#
N #5

? N FIE (FP—L8) TFaEEMERWESD 28 | ERGH
ft ABEEL. UHOBRIDHYET. HNDOOS | 3M. 4M. 5M. BM (NSKEM. NSDBM. NTK5M - BMAa])
HNO10 | 5M. 6M. 8M. 10M

227 [El=m—ruMiiamsfELTEUET,



TVLVART 7 AT —

X IREFRI B
REREFIL b

FFEAFAMNC

+FERFBEANMIL

+FRAE b T AL

HE_|SUS304 fas#

M4, M5, ME. M8B.
M10, M12. M14.
WOHE M16. M20
W3/16. W1/4. W5/16
\W3/8. W1/2. W5/8

#E_|SUS304 1A%

... IM3. M4, M5, M6.
FUTE [\, M10. M12

H#E  |SUS304 %4

M2. M2.6. M3. M3.5,
EUSHE (M4, M5, MB. MB.
M10

##E  |SUS304 BUH

M2, M2.6. M3. M3.5.
FUsHiE (M4, M5, M6. M8.
M10

#H#E |SUS304 AL

M2. M2.6. M3. M3.5.
USSR (M4. M5, MB. M8.
M10

BREAHZY P-1 (FERf)

£)==

##®  |SUS304 B

FFUSHE (M3, M4, M5, M8

BeA#HZY P-2 (NRES)

o=

WK |SUS304 185H

WUsHE (M3, M4, M5, M6

EeiiAisxY P-3 (FER+/N\RERT)

Q=

#H  [SUS304 18%#

FEUSHE (M3, M4, M5, M6

+FARFFmMB L

T

+FERIFEVEYTRL

T

+FERAY Y2l

|

meEYNEYEZTRU

I

[RUPIZ 1

|

ARBAMEDRL <EFHE

AARFIEDHR U

AAFyb1iE

FASTENER

#%_ |[SUS304 fBMH
M2. M2.6. M3. M3.5.
WOtk (M4, M5, M6. M8,
M10

##  |SUS304 iBH#H

o (M3, M3.5. M4. M4.5,
e M5. MB

#E  |SUS304 HNH

WUTE M3~ MB ET

HE SUS304 M4t

. |M3. M35, M4, M4 5.
FOLE | Mo

ME |SUS304 1N

. |M3. M3.5. M4, M4.5,
Uik M5. M6

#H_ [SUS304 1E%H

.. |M3. M4, M5, M6.
FUTE g, M10. M12

##|  |SUS304 iB#

. M3. M4, M5. M6.
FUTE |18, M10. M12

HE  |SUS304 4
M2. M2.6. M3. M3.5.
M4, M5, M6. M8.
WEUsHE (M10. M12. M14.
M16. M18. M20.

m22

>

B N4\UN

~
-4
m

—T HE-EE BHEINAS
o O

L
=

> -
m

TR BE K- ETV
m

HERE AT BEXE
o o

~
-4

BN TN

z
-
=
=
=
iz
E
7

— ¥
put

=

e

- S5l

228



-

B

kel
S~
-

B - S—C MBS BRI

—

e
~
-

TN B Y- E7N

Bror1H

pEBEE

R

S
-~

RNETNe

AT 2LVAR T 7 AF—

ESEA#ZZXY P-4 (METER+/NRESRF)

UN ©3 &1k Ty b

8 |SUSB04 44
WUk (M3, M4, M5. M6
ME  [SUS304 ig84#H

- M4, M5, M6, M8.
U IM10. M12
| HESUS304 H4#H
WFUsHiE (M4, M5, M6
#%  [SUS304 1B H
., M4, M5, M6. M8.
WO M10. M12
K |SUS304 1844
M3. M4, M5. M6.
M8. M10. M12. M14.
oy [M16+ M18. M20.

M22. M24. M30.
|M36
\Wi1/4. W3/4

"AFy 3§

ATV TPy iry—

o

ETy A —

O

FASTENER

HE  |SUS304 Y
M24. M27. M30.
... |W3/16. W1/4. W5/16
HOIE \W3/8. W1/2. W6/8
(w34, w7/8. W1
8 [SUS304 1% H
. M4, M5. M6. M8.
FUTE 1110, M12. M16. M20
HH  |SUS304 18H#t
U (M2 ~ M56
HE  |SUS304 {44
stk (M2 ~ MB4

T BLUMURAS

AE

R

&

229 [@E7-/RuUBICERERELTENET,

2l H1X AW
E TAN1.6 @1.6x150mm 10
|[ETAN2O0 | 02 x150mm 10
& TAN2.4 ©2.4%150mm 10
2% kYR

BE 2%t 016, 02, 024, 1.5%I—-NK54 016, 02, 024 ®

BOBOSZEVET.



